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2| =F8& E.Eﬂﬂu 464,000
3] =FE& BN —1,446,000
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5| HER HItETH 6,787,000
6] IBERE A=l —3,283,000
711 TEER FEmh -31,707,000
8| FEE B E T -10,654,000
9] FER Rl 8,295,000
10| FEE 4 ETh —1,834,000
11]  HREAR fiaahl 2,136,000
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13| HEE H=LHET -54,000
14] ZE)I[E JI I TH 364,000
15| AIJIE £Rt —9,703,000
16) RHE INEETH —185,000
17 IKBE Al R 4,860,000
18] =HE It 1,348,000
19] ZHE FEsR -649,000
200 HEE METh —1,519,000
21| #EE SESZ -2.177,000
22|  IERKT ST 367,000
23|  KBRAF W H 5,982,000
24| FIFRLE =L —173,000
25| LBR EUN=Yin —4.,588,000
26] RIGE B ERETh —232.000
i [ A 32,069,000




